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= 1S The :
. ; Positive lagic OR & .
b gate i-S the Same asfnegativ[’. tQB‘C -_"_.——_"—_'___._.
(A)  Ex-OR gate
*(B) OR gate
(C)  NOR ) 5 ot :
e (D) AND gate i
i : 1 g U or one :
2. In single phase ac voltage controller feeding a resistive load, the average current oV
cycle
(A) s always zero (B) cannot be zero
(C) maybe some times zero (D) Is always positive -
Iternator. The
the phase voltage of ana
3. Itis desirable to eliminate Sth harmonic voltage from the P
3 et :
should be short-piched by an electrical angle of W
(8) 36 degree L
=

(A) 30degree
(D)~ 72 degree

(C) 18 degree

ratio of o

(B) rms value to average yalue

4./ The peak factor is the

(A) average value to rms value

,(9)/ peak value to rms value
llowing converter ¢l

(D) peak value to average vglue

int?
rcuits would require 3 neutral po

5. which of the fo

(p) 3-phase semi-converter
nverter
(8) 3-Phas€ full co h freewheellng diode
: 3 ith fr
nverter W
_ohase full €0
(C} 3 p rter
- 3.phase half wave conve ssher below it, the bolt will be subjected to
(D) acing aW .
the nut is tizhm“"'d by P!
when
= _,_,_’-—/ (B) compression stress
;1 (lueﬁ'd .
O taps i (D) bending stress
’ shear ctress ‘ .
(© { a bar under its own weipht as compared to that when subjected to a direct
n o
7- The Mormauo} L0 its WD weight (V111 4 P —

yia) load equ?
g (5) one fourth

(a) the zame

J;a’ hatf

() double
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sP
,red beam has equal overhanging lengths and carries equal concentratEd load

!

8, T Ll
The sime .w'" moment over the length betweon the supports

at ends an’

w R .‘%/ 3
N

\ﬂ/?s a hon - zero constant

(C)  varies uniformly from one support to the other a__r\

(D) is maximum at mid span

The more effective way to increase the thermal efficiency of a carnot cycle is to }
' ; f\ﬁ__ N - N
. _ s
(A Increase the source temperature  , (B} Decrease the sink temperature ' T
: ' i & : Tl =Y,
) 1 - ’ - .
(C) Increase the sink temperature - (D) Decrease the source temperature ‘”.‘-'7'—\_
The efficiency of a power tralnsformer is maximumat - : (S -2 AT
. \ . . X i . #‘—#-1—__
(A) Nearf\! fu" 'Oad : {B, 1f2fu" load S, . - LI '
(C) 1/afullload ; e
Kt (D} 1/8 full load L AT
Ty .. A\

11. Which semrconductor device out of the followmg is not a current triggered device ?

(A) Thyristor oo SNB) TR|AE: e A - ~ :

(C} GTO i L (D} MOSFET . : : (\'b 2“ @
12.  Which one of the following decreases porosity of law carbdn steel ?

(B) Phosphorus

(A) Sulphur
(C) Manganese _ : g/SIIIcone

13. Pearlite phase in an iron-carbide phase diagram is

(A)  Eutectic phase (8) Hypo-eutectic mixture

(8 Eutectoidal mixture (D) Hyper- eutectic phase

14.  If the damping ration of the system is zero then itiscalledas .

})-‘ critically damped system (B)  undamped system

(C)  under damped system (D) over damped system

[6-C-3]
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w}“%el ies C
parts then stiffness of the resultant spring

> ' 12 kN/m
Q/DH (A) 6 kN/m gr ' JBY .
‘} .

C 24 m ; N/m

,)\ 16. Auto frettage is the method of
- el SR

(B) caicuiatlng StI'ESSES in thick Cvliﬂdefs
llﬂ ers
( ) joining thick cy d

k cylinders : (D) increasingtlje life of thick cylinders
/ prestressmgthlc cylin :

ionalto_____——=————"
| 17. Starting torque of an induction motor is proport

2
(B) [Suppiyvoltage)
(A) supply Voltage B

- 3
Supply Voltage)
(C) 1/2(Supply voltage) (D) (Supp .

i db :
18. Therange of a moving iron a.c. ammeter Is extended by

- (A) ashunt

(8)  amultiplier

{9/ changing number of turns of operating coil
{IE)) - changing material of indigator .
19. Inaslider-bar mechanism, when does the connecting rod have zero angular vefocity ?
oJA)  When crank angle = 0° | r (B) When crank angle = 90°
(Q When crank angle = 45=. ' : o it . (99 c’/

Coriolis component of acceleration depends on...

1 angular velocity of the link

2w

2, acceleration of the slider

3. angular acceleration of the link

Which of the above is/are correct ?

(A) 1only (8) 2only
(©) 1and3 (D) 2and3
(6-C-4)
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21. . Free wheeling diode in a converter is placeq

’

(A) in shunt with thyristor

_ (B) across the DC load
(C)  Inseries with thyristor

@ Large field guns
which
; . come to initial positiun after firing in shortest possible time are
_'__——-—_____. s Al

A_,(_A_)/Uhd'erdamped ' -

(B) Critically damped

(D) in series with load

(Q) OVerdam_ped kB
ndampe

:jtrlb:;;:n fransformers are designed to have maximum efficiency nearly at of full load
: (B) 100%
_ (©)  25% ©) 0%
24 The leakage reactance of a 3-phase alternator is determined by performing
(A)  short circuit and slip test ' (B) zero power factor and slip test
(©) - open-circuit and zero power fa.c:tor tesf{D} open and short cnrc:.ut tests
25. In case of TRC (Time Ratio Control} is varied
(A) F‘tn’ng angle ! e ‘ (B) duty cycle
(C) supply frgquen'cy S .{D-) supply VOItaée.magnitude
26. The average overall thermal efﬁciéncy of diesel cycle is R
AA)  36% ' 3 ~ (B) 20%
() © 50%. : : (D) 75%
27.  Kirchhoff’s law is no’t applicable to circﬁits with
(A) . Lumped parameters 3 (B) Passive elements
(C)  Distributed parameters (D) llneaf resistances
2. j‘IF"QStina of evaporator tu;:es resultsin_______—
(A)  Increased heat transfer rate (B). Increased compressor pressure
e S% Decr_&a‘sed heat transfer rate (D) Decreased compressor pressure %
(6-C-5]
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30,

31,

32,

33,

34,

35,

- (C)  decrease dv/dt

For

?3"'09‘Qdﬁﬂ'rﬂbnegll@mnlm TLGE

n VORI applie athons ¢ ';.

damping Capac IPVE}PFF

(A Fxcoss cony
eemontite I"l Conhin in g fonm

(C) - Silicon carbide 1 fl \ : ?’7‘
\ ako sricture (D) Spheroldal frin of graphite h
Allywlreel o .
$ \: l A& motor spewdy P (0 rost 1o 1000 1 i 6 s onis, [l piienhint nlmvniutlrm
'lﬂ{ el wereby is nea d
; ”Y S bt Ht, - (‘ (% A
(A) 200 i
() 100
‘4|l‘| i
< 50 |
G- s (0) 20 _
The harness of lathe bed materjal should be mensured Iw S .. ‘:
(A) Rnckwc-lllmlnr (1) Brinell hardness testéar
JC)~ Shore Scleroscape (D) Vickers hardness taster
If the principal stresses and maximum shearlng strasses are of equal numerlcal vislues it & noll
a stresses body, the state of stress can be tormed as R
(A) Isotroplc (B)  Uni-axial
ey Pure shear (D) Genarallzed plane state of s1rass

Torque speed characterlstics of a 2-phaso Induction motor is largoly effoctod by

A T a——— D

(A)  voltape (B)  spoed
“(C)  X/R ratio (D) supply froquency
The depletion-mode MOSFET 7

(A)  can operate with only positive gate voltages
(B)  can operate with only negative gate voltagos

(C)  cannot operate In the ohmlc reglon

(D) can operate with positive as well as negatlye Bate voltages

The function of snubber circult connected acrass an SCRIs to
e |

(A)  suppress dv/dt (B) Increase dy/

(D) Kee
P transient gy voltage at i constant

(6-C-6]
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findependent meshes M s (where B is number of branches and

e ""(.:f'u.'Q'E

et~
»r
] o of moves)
i P
p I3N+1
a2 {8) B-Ns1
3 ISN-I

(D) B-N1

37. ‘
A helical compression sgh'!g of stiffness k 15 cut into two '[J!ECBS each Ilaving equal number f
o

s anc k -
=Ft side by side under compression. The equivalent sprmg stiffness of this new 3
FTangement is equal to : .
) 2x
: : (8) 2k | e M
Ja K ' ¥
: (D) 0.5k

f

ST Castiron scrgw and mild steel nut
g
(8) ° carbon steel screw and phosphor bronze nut

(€}  castiron scarew and cast iron nut

(0)  Aluminium screw and- alloy steel nut

39. The number of i .
nstantaneous centres of rotation in a slider crank quick return mechamsm is
| | _ . . I f 7y
My @ o ' Vi o

_ (B) 8

6 ] 7 i j » -
_(_9/ . (D) 4
It burns with long yellow and smoky flarﬁe. :

(A) Peat (B) Lignite

© st s
] uminous coal . (D) Anthracite coal

The sl i
slope of the sublimation curve on P-T diagram for all substancesis ________

[6-C-7]
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(A) e
(C}  2B-N-1

37.

arrangement js equal to

SPrNg stiffnegs of this ney,
b — ormie dad
(A
Jo ok (D) 0.5k

tion of Materials ysa for the SCrew ang the nut 7
JAY T cast ffon screw ang mild stee] ¢
(B) " carbon Steel screw ang Phosphor bronze nyt 3
(C) Castiron screw ang Castiron nyt
(D)

39, The Number of INstantanegys Centres of rotation in 5 slider crank quick return Mechanism js
(A) 10

_ : 0) 4°
40. ¢ burns with long yellow ang Smoky flame,

(A) Peat

(B) Lignite

(D) Anthracite coal
The slope of the sublimation curve op p

-T diagram for a substances is
(A)  Zero

B !;ositive

(0} variable

' .(C) Negatiye

16¢7)
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42. Incase of the 120P@p@':(f2@e€)ﬁ93”2] ) Sgugs ("devices conduct at a timet ;

(A) 2 . Lok y

(€) 4 ; . (D) 6

43, * Induction generator deliver power at 2TV

< onl
(A) lagging power factor only (8) unity power factor ' y
(C) leading power factor only " . (D) any power factor
44. The dualofa parallelR-Ccircuitis -

'{A) Series R-C circuit . h () Series R-Lcircuit

(C) Parallel R-C circuit (D) Parallel R-L circuit

-45. Find the output voltage for a step-up chopper when it Is operated at a duty cycle of ?0 % and
Vs=240V.

: e
(A) 240V _ @) seov v 7

() 480V ‘ : @ 120V

Atomic packing factor in the case of copper crystal is
(A) 052 ‘ 4P 068

€ 074 : (D) 1.633

47. Inadouble cage induction motor, the under cage has

(A)  High Rand High X (B) High R and Low X

(C) LowRandHighX (D) LowRand Low X :

a8.  Adiode rectifier with a C filter will have average output voltage

than that
: 4 obtained by a rectifier without the C filter.

(A) lower than' A \(})’ higher than

(C) sameas (D) none of the mentioned

49.  Which one of the following mediums is used for the fastest cooling rate of steel quenching
ee
Al R - (8) Oil o i
(C) Water QY P)/B.rine ; g \
Sy (6-C-8)
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s 50, If the load on ball bearing is halved, its life

(A) Remains um:hanged ; (B) ' Increases two times

(c) Increases four times N)/Increases e|ght times

A 230V 50Hz srng!e phase energy meter has aload current of 10 A at 0.8 p.f. lagging. The energy
consumed by load in 2 minutes is '

(A) 0.06 kWh . " (B) 1.2kWh

(©) 184 kWh : (D) 2.4kWh

52.  Ashunt generator running at 1000 r.p.m. has generated e.m. f as 200 v. If the speed i increases to
1200 r.p.m. the generated e.m.f. W|II be nearly R ,'5[;' ' | bettd 2OS
3 }'"":;; ~
(A) 150V - | (B) -175 Vv : s V( v
. T E
(€ 240v ' D290V 2o T(2°

53. Increase in entropy of a system represents

(A) Increasein availability of energy (B) ' Increase in temperaturé
(Q) Decreage in pressure 8 Wgradation of energy

Why is an offset provided in a radial cam translating follower mechanism ?

(A) Toavoid obstruction due to some other machine part
+_(B}"To decrease pressure angle during ascent of the follower

(C) " Toincrease pressure angle during ascent of the follower

(D)  Todecrease pressure angle during descent of the follower - .

55. Inaclosed loop control system

(A) " control action is independent of output

B o
(8) Output js independent of input

(© there is o feedback

\_’_)ntro! action s d‘-‘pEndent on output

[6-C-9]
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55-_ The output DfEmﬁmm&mtsﬁbﬁ%g at logic 0. Then the gate is —

e aNFJBg_ate : S L .(B}~ aNANDgate
C)"""a'hORgate R L ."'(D)' anANDgate ;

A hlgh pressure angle for spur gears leads tn RTINS

(B} Greater backlash

r{'CJ/More interference - i .. (D) Wide baseandstrongertooth g

P e :
s memory locations_,of

{A) : Minirnum axial thrust

P 58. - A 16 bit memory address regIster can addres

) G ;(A) "16'-'k e _ _ (a} 32k
| @ sk - e E ' ©) 128k

; 59.. .The.prc;pert‘iés;fwater and stea'rn I:.)ecorrie ident;ca_l at_

: el B s -."}'(‘B) 0

(A) - 0.1bar _
(€) oBapars T o el T (D) 2122 bar.

_ 60. Ascompared to rhé time périod ofa simple penduium on the earth, its time period on the ma

: o N e —'ravﬂ'?— : |

N

will be

(A) 6times l'ligher_ L “(B) thmes lo“ier ’

S : £33 oy -"(D)'-\/ﬁ_tlmeslo\&er‘ .- Gk T g

: «'—;9, /6 times higher

61. Opposed to great or sudden change. (Give one word for the expression.) :

B AT c:_:mservative ' § Mﬂe\rolutionaw

tC] Evolutionary - (D) Statlc

'Spuulauons and zgotheslslng are the most essentl

_ (Find the correr:t phrase for undelined.)

al and well known aspects of inventions.

L)/ hypothesls has becn : - (B) hypotheslsing needs

(C) hypothesis makes (D) ‘No corrections l‘equlmd -

[6-C-10]
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Because of the heavy rain, the match was

- (Choose the correct alternative out
—_—
of the four, to make meaningfy| sentence, ).

(A)  setaside

E_}____called off
(C) fallen off

’y/ Yogic exercises ang meditation

anxiety. (Find the correct phra

(D) 'broken off

Seems to be a hel
=——=200e a help

modern men and women deal effect‘weiy with
se for undelined.)

(ay _Seemto help (B) seemsto be helping

' g}l)ee'ms to help

If it were true that enduring lesson are Iearned from
the repository of

(C)  seemto have help
65. ' errars, Broadway would pe
—_— e

theatncal w
—

isdom, (Choose the correct option for each blank
that best fits into the meanlng of the sentence

as awhole :)

(A)  accidental, occult (B) egregious, sublime -

(C)  dubious, profound (D) dramatic, lasting

66. Uldefl WAool TUUAL 58 WML 1. vuany SR GRL sl WA 7
(A) 1867 (B) 1862
(C) 1872

(D) 1887
3 \
: L2 ¥ 21, T ) o) 1] l?-." : S
. 6. "hauc% a[lctcl Al AL, Wet R, U et A" - R 5 e B

) et ' ®) QR
(€ elsiq ; (D) AW

A2 ellse? Haoue wepd AN W@ 56 2odll e s N L

(A) a9 kg, (8) 55K,

59 kg, (D) 45Kg.

[6-c11)
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In Below QuestionB,apdrpi3GeO BB by Berive@s. The first and the's

\ i)
given in the beginning. The middle four sentences in each have been remove

‘ ' » four
These are labelled P.Q. R and . You are reduired to find out the praper order for the

sentences :

69. "S1:There are numerous kinds of superstitions in different parts of the country,
$6: A dog's howling predicts death- this Is a typlcal superstition,
P: But people go on respecting it.through force of blind custom.

’ s
Q: Most of them have a bearing on ""luck""-good or bad.

R: Superstitions, usually ha;vc their origin In fear and Ignorance.
S: Nobody remembers now how a superstition first started in remote ages.
(A) QPRS - _ (B) RSPQ
RSP a4 (D) QSPR'
GB’) "$1: Society in every country shapes itself out of it own initiative.
SG': And our Indian women are as ca.pable of doing it as any In the world.
P: No one can or ought to do this for them,
Q: Our part of duty lies in imparting true education to ;“ men and women in society.
R: Woman must be put in a position to solve their own problelms In their own 'way.
- S 11t will not be then necessary to pull down .or set us anything In soclétv by coercion.
(A) SRQP ~(B) arsp

\);4 an_p : (D) SrRPQ

71. ol Aeuuiell 520 @QsEU ol AUA o2l 7

W @y S Qu
© gl (0) el
72. %A YRAaflélel 2euutett st arfy] g ocll 7
(A) 1950 (B) 1949
(C) 1951 (0) 195
(6-C-12)
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- 73, 20210(1 @Qivieset 2R gollNoza] Yol gleelcl RAM ULl WHeAR Retdl 58l

(.nrﬂ [
) eslQs (B MeaA Addl
(€) A% ¥s22 (p) e diu

78, ldaAdl Ananell yur oy uRve sud Qe ocll ?
(A) 1931 (B) 1930
(@ 1032 ‘ (D) 1934 |
75. "ol welHi adl Asell asru@r
(A) ; A (8) clcll
,‘_u_/) dla ‘ (DI}‘ 2Bl
@R vLdetl iAx cﬂ.tas.z{é‘ta AS WG Azeloll @{led WA s délé«'ﬁ silsi
s ‘&cll ?- 7 :
(,_n.)‘ 1944-1947 ‘(IB} 1945 - 1947

(C) - 1946 - 1947 - (D) 1947 - 1947

2015aﬂ IcC-T20 qeé SUMI aea Sodlosell AN S AR &cll ?

(A) AlAa () $9Q05

© widol () e@el wubEst

"ol g 3Ry A Y ,ai«it ?

(&) o ctalq ey g ad

© ud o (D) GAdetHl %9

© g Yets oflet enfgl AQ vl 07
W CReig dly GR &dﬂq g

RO Hiug (D) qac-t éuui :iluél ey

s m oAanl
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80. 2021 BARAACol A5y ko 6L olo2yy 7

(A) 0 (8) Aorarllat Acdiotg
O Al AR _ (D) 13 A2le ’
$9001.) % 60 S S e & vh a3B o0
. A A -
_ (A)  Aus S (B) Hel&?
“‘ 4 (©)  Ueprgy ~(0) BwmRel ‘
82, UMl AA sl881Eatl Hual sau2utllalell RMe)s Oi’tueel"%l 56 SUMA AL sead
A B ?
(A) 356 (8) 217
© 224 (D) 357 3
ga; AR5 (e
() U+ A - (B) U2+
© U2 ¥ % (D) AR + Ay -
84, UYL cigle] UM% (Tughlag Dynasty) 52l e etz 2 &d ?
_(A) 1320-1414 (B) 1414-1451
(C) 1451-1526 (D) 1526-1605
85. Argtaiell duld : u&uug (Qrue) s u.uuzmi Acll Ay 5
R (A) 2:3 ' (B) 25:35
(€ 3:2 D) 35:25

86. MU W2 USKR Fecl cfofl Gipd A ol ey 7

(A) 21
(B) 14
(€ 24
(D) 17

“ v ng,
P~ M '“Rh e e
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sl ﬂéa[las &lmutmall "5l qﬁm Mo sRau w o2

(A): 1947 . '-(m 1961

(©) 1960 5 3 . (D) 1957

g, ol Dol 52 WA W Ue AU B ?

v aamu‘h LT @ g
©) suatuat R W (n),F;cigld 3
g9. ollRAsll. [ascuula[l 58 %‘Lsg[l %uz[l €9 ?
) qullet L ® 61[[@1
(A 2K %
bt S erella
© 66a i _ \}9"/ ‘
90. aalaﬂéil' Eaur[l auegtilell 58 D7
(3) AN
' 353&01 |
(A)' | (D) My
() ataa'lwﬂ ; s .
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